ITEC 350 – Spring 2005
Quiz 3 (10 points)

[Sliding Window Protocol] If a system uses a 3-bit sequence number (which means the size of the windows is 8), draw a figure which represents each of the following status.

(a) Initially
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(b) After the first frame has been sent, but not received yet.
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(c) After the first frame has been received and the acknowledgement is not sent yet.
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(d) After the first frame has been received and the acknowledgement has been sent.
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(e) After the first acknowledgement has been received.
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